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" Course Code : ECO-MI-T-1
(Principles of Miprdeconomiés)
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Full Marks : 40 . - .Time : 2 Hours
'. The figures in the rzght-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicaple.

1. Answer any five questions: _ . 2%5=10
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a) What do you mean by ‘Micro Economics’?
RS SRS TSR @
b) Whatis consumer surplus? .
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¢) - Mention two ?Xceptibns of the law of demaﬁd. |
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' d) Whatis Marginal Utilityy |
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e) What do you mean by a consumer's Budget‘
Line?
csmﬁaanﬁ%éﬁ$waavsiﬁem¢?
What is Incoriie-éonsuinption Curve?
R-Clt G I = 2 |
g) What is Returns to Scale in production?
Tesiea Sfaraie e RiEG [&e
What is Iso-"qixant"7
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. 'Answer any two questlons ' -5%2=10
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a) What is price elastlcny of demand‘7 Show thata -
, stralght line demand curve has different
elasticity at different pomts on the demand
curve. ' : 1+4-5 .
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b)  What do you mean by price effect? Explain the '
- - process of derivation of price consumpﬁon .
curve. . ' 2+3=5
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c) Explam the concept of Expansxon path of

productxon thh a suitable dlagram -5
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d) Explam the relationship between Average Cost
and Margiqal Cost of production. . - 5
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3. Answer any two questions: . 2x10=20 -
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a) What do you mean by Indifference Curve?
Explain the characteristics of Iridifference
Curve. Explain diagrammaﬁcally the process of

".consumer"s equilibrium of the Indifference
curve analysis. L 1+4+5= =10
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b) What is Production Function? Explain .
diagrammatically about the Total Product,
Average Product and Marginal Product. -

2+8=10
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c)

d)"

Distingﬁish between Fixed Cost’ and Variable
Cost. Explain why the short-run Average Cost
curve is “U” shaped. - 4+6=10
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* Write the diﬂ'ei'ent characteristics of perfectly

competitive market. Explain the short run
equilibrium situations of a firm in this market.
- 2+8=10
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